be restricted to those issues specifically identified in this notice and any issues arising after publication of this notice that require emergency action under section 305 (c) of the MSFCMA, provided the public has been notified of the Council's intent to take final action to address the emergency. A copy of the MSAP agenda can be obtained by calling (813) 228–2815.

## **Special Accommodations**

This meeting is physically accessible to people with disabilities. Requests for sign language interpretation or other auxiliary aids should be directed to Anne Alford at the Council (see **ADDRESSES)** by April 9, 2001.

Dated: March 27, 2001.

#### Richard W. Surdi,

Acting Director, Office of Sustainable Fisheries, National Marine Fisheries Service. [FR Doc. 01–8052 Filed 3–30–01; 8:45 am] BILLING CODE 3510-22–S

### DEPARTMENT OF COMMERCE

### National Oceanic and Atmospheric Administration

[I.D. 032201B]

### South Atlantic Fishery Management Council; Public Meeting

**AGENCY:** National Marine Fisheries Service (NMFS), National Oceanic and Atmospheric Administration (NOAA), Commerce.

**ACTION:** Notice of public meeting

**SUMMARY:** The South Atlantic Fishery Management Council (Council) will hold a meeting of its Marine Protected Area Advisory Panel (AP) in Charleston, SC, to develop recommendations to send to the Council regarding areas that should be considered for Marine Protected Areas.

**DATES:** The Marine Protected Area AP will meet May 8-10, 2001. The meeting will begin on May 8, from 8:30 a.m. until 5 p.m., on May 9 from 8:30 a.m. until 5 p.m., and on May 10 from 8:30 a.m. until 3 p.m.

**ADDRESSES:** These meetings will be held at the Embassy Suites North Charleston Convention Center, 5055 International Boulevard, North Charleston, SC 29418; telephone: (843) 747–1882; fax: (843) 747–1895.

FOR FURTHER INFORMATION CONTACT: Kim Iverson, Public Information Officer; telephone: (843) 571–4366; fax: (843) 769–4520; email: kim.iverson@noaa.gov. SUPPLEMENTARY INFORMATION: Although non-emergency issues not contained in this agenda may come before this group for discussion, those issues may not be the subject of formal action during this meeting. Action will be restricted to those issues specifically identified in this notice and any issues arising after publication of this notice that require emergency action under section 305(c) of the Magnuson-Stevens Fishery Conservation and Management Act, provided the public has been notified of the Council's intent to take final action to address the emergency.

### **Special Accommodations**

These meetings are physically accessible to people with disabilities. Requests for sign language interpretation or other auxiliary aids should be directed to the Council office (see ADDRESSES) by April 30, 2001.

Dated: March 23, 2001.

# Richard W. Surdi,

Acting Director, Office of Sustainable Fisheries, National Marine Fisheries Service. [FR Doc. 01–8053 Filed 3–30–01; 8:45 am] BILLING CODE 3510-22–S

## DEPARTMENT OF COMMERCE

# National Oceanic and Atmospheric Administration

# Membership of the National Oceanic and Atmospheric Administration Performance Review Board

**AGENCY:** National Oceanic and Atmospheric Administration (NOAA), Department of Commerce. **ACTION:** Notice of Membership of NOAA Performance Review Board.

SUMMARY: In accordance with 5 U.S.C. 4314(c)(4), NOAA announces the appointment of three additional members to serve on the NOAA Performance Review Board (PRB). The NOAA PRB is responsible for reviewing performance appraisals and ratings of Senior Executive Service (SES) members and making written recommendations to the appointing authority on SES retention and compensation matters, including performance-based pay adjustments, awarding of bonuses and reviewing recommendations for potential Presidential Rank Award nominees, and SES recertification. The appointment of members to the NOAA PRB will be for a period of 24 months. **EFFECTIVE DATE:** The effective date of service of the three additional appointees to the NOAA Performance Review Board is April 9, 2001. FOR FURTHER INFORMATION CONTACT:

David M. Belt, Executive Resources Program Manager, Human Resources Management Office, Office of Finance and Administration, NOAA, 1305 East-West Highway, Silver Spring, Maryland 20910, (301) 713–0530 (ext. 204).

**SUPPLEMENTARY INFORMATION:** The names and position titles of the additional members of the NOAA PRB are set forth below (all are NOAA officials):

- Sonya S. Stewart, Chief Financial Officer/Chief Administrative Officer, Office of Finance and Administration
- Louisa Koch, Deputy Assistant Administrator, Office of Oceanic and Atmospheric Research
- Ted I. Lillestolen, Deputy Assistant Administrator for Ocean and Coastal Zone Management, National Ocean Service

Dated: March 27, 2001.

### Scott B. Gudes,

Acting Under Secretary/Administrator and Deputy Under Secretary.

[FR Doc. 01-8008 Filed 3-30-01; 8:45 am] BILLING CODE 3510-12-M

# DEPARTMENT OF COMMERCE

# United States Patent and Trademark Office

# **Trademark Processing**

**ACTION:** Proposed collection; comment request.

**SUMMARY:** The United States Patent and Trademark Office (USPTO), as part of its continuing effort to reduce paperwork and respondent burden, invites the general public and other Federal agencies to comment on the submission of a revision of a currently approved information collection, as required by the Paperwork Reduction Act of 1995, Public Law 104–13 (44 U.S.C. 3506(c)(2)(A)).

DATES: Written comments must be submitted on or before June 1, 2001. ADDRESSES: Direct all written comments to Susan K. Brown, Records Officer, Office of Data Management, Data Administration Division, USPTO, Suite 310, Crystal Park 3, Washington, DC 20231; by telephone at 703–308–7400; or by e-mail at susan.brown@uspto.gov.

FOR FURTHER INFORMATION CONTACT: Requests for additional information should be directed to Ari Leifman, United States Patent and Trademark Office (USPTO), Washington, DC 20231, by telephone at 703–308–8900 (ext. 155).

# SUPPLEMENTARY INFORMATION:

### I. Abstract

The United States Patent and Trademark Office (USPTO) administers the Trademark Act, 15 U.S.C. 1051 et. seq, which provides for the Federal registration of trademarks, service marks, collective trademarks and service marks, collective membership marks, and certification marks. Individuals and businesses who use their marks, or intend to use their marks, in commerce regulable by Congress, may file an application with the USPTO to register their mark. The mark will remain on the register for ten years. However, the registration will be canceled unless the owner files an affidavit with the USPTO attesting to the continued use (or excusable non-use) of the mark in commerce. The registration may be renewed for periods of ten years.

The rules implementing the Act are set forth in 37 CFR Part 2. These rules mandate that each register entry contain the mark, the goods and/or services that the mark is used in connection with, identifying ownership information, dates of use, and certain other information. The USPTO also provides similar information concerning pending applications. The register and pending application information may be accessed by an individual, or by businesses, to determine availability of a mark. By accessing the USPTO's information, potential trademark owners may reduce the possibility of initiating use of a mark previously adopted by another. The Federal Trademark Registration process serves to reduce the filing of papers in court and between parties.

The information collected can be provided using forms furnished by the USPTO. All of these forms are provided on printed paper, and various of these forms are also provided in electronic format, through the USPTO's Trademark Electronic Application System (TEAS).

The TEAS forms, in turn, are provided in two different formats, known respectively as ETEAS and PRINTEAS. ETEAS forms are completed on-line and then transmitted to the USPTO electronically, via the Internet. PRINTEAS forms are completed on-line, printed by the user, and then mailed or hand-delivered to the USPTO. Payment of fees associated with a paper submission is made by check, money order, credit card, or through an authorization to charge a USPTO deposit account. Payment of fees associated with an electronic submission is made by credit card or through an authorization to charge a USPTO deposit account.

The TEAS system has included a form for applications for registration since October 1, 1998. In April 2000, four additional forms were developed for TEAS, namely, the Request for Extension of Time to File a Statement of Use, the Combined Declaration of Use in Commerce/Application for Renewal of Registration of a Mark under §§ 8 and 9; the Declaration of Use of a Mark in Commerce under § 8, and the Affidavit of Incontestability of a Mark under § 15. These forms are being added to this collection.

Additionally, the USPTO is currently developing electronic versions of three additional forms, namely, the Collective Trademark/Service Mark Application, Collective Membership Mark Application, and the Certification Mark Application. It is expected that these forms will be available for use by the end of 2001. These forms are being added to this collection.

The electronic Request to Divide and the Petition to Revive an Abandoned Application are being added to this collection as well.

### **II. Method of Collection**

By mail, by hand, or electronically over the Internet through the USPTO's Trademark Electronic Application System (TEAS). In FY 2000, over 15% of applications for registration were filed electronically.

### III. Data

OMB Number: 0651–0009.

*Form Number(s):* PTO–1478, PTO– 1478(A), PTO–4.8, PTO–4.9, PTO–1553, PTO–1581, PTO–205/209, PTO–4.13A,

PTO–205/4.13A, and PTO–205–209. *Type of Review:* Revision of a currently approved collection.

*Affected Public:* Business or other non-profit; individuals or households; not-for-profit institutions; farms; the Federal Government; and state, local or tribal government.

*Estimated Number of Respondents:* 677,151 responses per year.

Estimated Time Per Response: The USPTO estimates that it will take the public an average of 3 minutes to 30 minutes to complete this information, depending on the form. This includes time to gather the necessary information, create the documents, and submit the completed request. The time estimates shown for the electronic forms in this notice are based on the average amount of time needed to complete and electronically file a trademark/service mark application.

*Estimated Total Annual Respondent Burden Hours:* 144,587 hours per year.

*Estimated Total Annual Respondent Cost Burden:* Using the professional hourly rate of \$175 per hour for associate attorneys in private firms, the USPTO estimates \$118,501,425.00 per year for salary costs associated with respondents.

Item	Estimated time for response (minutes)	Estimated annual burden hours	Estimated annual responses
Use-Based Trademark/Service Mark Application, including: —Trademark/Service Mark Application —Collective Trademark/Service Mark Application			
—Collective Membership Mark Application     —Certification Mark Application Electronic Use-Based Trademark/Service Mark Application, including:     —Trademark/Service Mark Application	23	27,224	71,643
—Collective Trademark/Service Mark Application     —Collective Membership Mark Application     —Certification Mark Application Intent to Use Trademark/Service Mark Application, including:	21	21,493	61,408
<ul> <li>Trademark/Service Mark Application</li> <li>Collective Trademark/Service Mark Application</li> <li>Collective Membership Mark Application</li> <li>Certification Mark Application</li> </ul>	17	31,205	111,445

Item	Estimated time for response (minutes)	Estimated annual burden hours	Estimated annual responses
Electronic Intent to Use Trademark/Service Mark Application, including:			
—Trademark/Service Mark Application			
—Collective Trademark/Service Mark Application			
Collective Membership Mark Application			
—Certification Mark Application	15	5,331	21,322
Application for registration of Trademark/Service Mark under §44(d) and (e), including:			
—Trademark/Service Mark Application			
-Collective Trademark/Service Mark Application			
-Collective Membership Mark Application			
—Certification Mark Application	20	3,940	11,940
Electronic application for Registration of Trademark/Service Mark under §44(d) & (e), including:			
—Trademark/Service Mark Application			
-Collective Trademark/Service Mark Application			
-Collective Membership Mark Application	10		0.550
—Certification Mark Application	19	819	2,558
Trademark/Service Mark Allegation of Use (Amendment to Allege Use/Statement of Use)	13	10,657	48,440
Electronic Trademark/Service Mark Allegation of Use (Amendment to Allege Use/Statement of Use)	11	3,944	20,760
Request for Extension of Time to File a Statement of Use	10	9,270	54,530
Electronic Request for Extension of Time to File a Statement of Use	9	3,506	23,370
Request to Divide	5 4	73 27	910 390
Electronic Request to Divide Affidavit of Use of a Mark in Commerce under §8	4	6.002	31,590
Electronic Declaration of Use of a Mark in Commerce under §8	10	2,302	13,540
Combined Affidavit of Use in Commerce & Application for Renewal of Registration of a Mark under	10	2,302	15,540
§88 & 9	14	3,128	13,600
Electronic Combined Declaration of Use in Commerce & Application for Renewal of Registration of a	14	5,120	13,000
Mark under §§8 & 9	12	1,224	5.830
Affidavit of Incontestability of a Mark under §15	11	152	800
Electronic Declaration of Incontestability of a Mark under § 15	10	58	340
Combined Affidavit of Use and Incontestability under §§8 & 15	14	1,656	7,200
Electronic Combined Declaration of Use and Incontestability under §§8 & 15	12	649	3.090
Power of Attorney	3	6,397	127,930
Designation of Domestic Representative	3	1,706	34.115
Trademark Amendments/Corrections/Surrenders	30	3,600	7.200
Petition to Revive an Abandoned Application	4	224	3,200
Total		144,587	677,151

Estimated Total Annual Nonhour Respondent Cost Burden (includes capital start-up costs and filing fees): \$128,421,600.00. There are no maintenance costs associated with this information collection.

There are capital start-up costs associated with filing the TEAS forms. If the drawing submitted with a TEAS application is not depicted in typed form, the applicant must provide a digitized image of the drawing. Likewise, digitized images of specimens, if any, must also be provided. The production of these images requires use of either a scanner or a digital camera. The average cost of a scanner is \$200, and the average cost of a digital camera is approximately \$700. The purchase of either a scanner or a digital camera is not mandatory; applicants who do not own this equipment may complete the electronic application on-line, print this information using PrintTEAS, attach a

specimen and drawing, and then mail the entire submission to the USPTO.

There is annual nonhour cost burden in the way of filing fees associated with this collection. The filing fees related to this collection are considered part of the nonhour cost burden of the collection. Following is a chart listing these filing fees/nonhour cost burden. A zero means that there is no fee associated with that requirement. The total annual filing fees/nonhour cost burden is \$128,420,700.00.

ltem	Responses (a)	Filing fees (\$)* (b)	Total non-hour cost burden (\$) (a) × (b)
Use-Based Trademark/Service Mark Application, including: —Trademark/Service Mark Application —Collective Trademark/Service Mark Application —Collective Membership Mark Application —Certification Mark Application —Certification Mark Application —Trademark/Service Mark Application, including: —Trademark/Service Mark Application —Collective Trademark/Service Mark Application —Collective Membership Mark Application	\$71,643	\$325.00	\$23,283,975.00
-Certification Mark Application	61,408	325.00	19,957,600.00

Item	Responses (a)	Filing fees (\$)* (b)	Total non-hour cost burden (\$) (a) × (b)
Intent to Use Trademark/Service Mark Application, including:			
-Trademark/Service Mark Application			
-Collective Trademark/Service Mark Application			
-Collective Membership Mark Application			
-Certification Mark Application	111,445	325.00	36,219,625.00
Electronic Intent to Use Trademark/Service Mark Application, including:			
-Trademark/Service Mark Application			
-Collective Trademark/Service Mark Application			
-Collective Membership Mark Application			
-Certification Mark Application	21,322	325.00	6,929,650.00
Application for registration of Trademark/Service Mark under §44(d) and (e), including: —Trademark/Service Mark Application			
-Collective Trademark/Service Mark Application			
-Collective Membership Mark Application			
-Certification Mark Application	11,940	325.00	3,880,500.00
Electronic application for Registration of Trademark/Service Mark under §44(d) & (e), including: —Trademark/Service Mark Application			
-Collective Trademark/Service Mark Application			
—Collective Membership Mark Application			
-Certification Mark Application	2,558	325.00	831,350.00
Trademark/Service Mark Allegation of Use (Amendment to Allege Use/Statement of Use)	48,440	100.00	4,844,000.00
Electronic Trademark/Service Mark Allegation of Use (Amendment to Allege Use/Statement of			
Use)	20,760	100.00	2,076,000.00
Request for Extension of Time to File a Statement of Use	54,530	150.00	8,179,500.00
Electronic Request for Extension of Time to File a Statement of Use	23,370	150.00	3,505,500.00
Request to Divide	910	100.00	91,000.00
Electronic Request to Divide	390	100.00	39,000.00
Affidavit of Use of a Mark in Commerce under §8	31,590	100.00	3,159,000.00
Electronic Declaration of Use of a Mark in Commerce under §8	13,540	100.00	1,354,000.00
Combined Affidavit of Use in Commerce & Application for Renewal of Registration of a Mark under §§ 8 & 9	13,600	500.00	6,800,000.00
Electronic Combined Declaration of Use in Commerce & Application for Renewal of Registra-	.0,000	000100	0,000,000,000
tion of a Mark under §§ 8 & 9	5,830	500.00	2,915,000.00
Affidavit of Incontestability of a Mark under §15	800	200.00	160,000.00
Electronic Declaration of Incontestability of a Mark under § 15	340	200.00	68.000.00
Combined Affidavit of Use and Incontestability under §§8 & 15	7,200	300.00	2,160,000.00
Electronic Combined Declaration of Use and Incontestability under §§8 & 15	3.090	300.00	927,000.00
Power of Attorney	127,930	None	000.00
Designation of Domestic Representative	34,115	None	0
Trademark Amendments/Corrections/Surrenders	7,200	100.00	720,000.00
Petition to Revive an Abandoned Application	3,200	100.00	320,000.00
Total	677,151	5,050.00	128,420,700.00

\* Note: All fees listed are based on per class filing.

## **IV. Request for Comments**

Comments are invited on: (a) Whether the proposed collection of information is necessary for the proper performance of the functions of the agency, including whether the information shall have practical utility; (b) the accuracy of the agency's estimate of the burden (including hours and cost) of the proposed collection of information; (c) ways to enhance the quality, utility, and clarity of the information to be collected; and (d) ways to minimize the burden of the collection of information on respondents, e.g., the use of automated collection techniques or other forms of information technology.

Comments submitted in response to this notice will be summarized or included in the request for OMB approval of this information collection; they also will become a matter of public record.

Dated: March 26, 2001.

# Susan K. Brown,

Records Officer, USPTO, Office of Data Management, Data Administration Division. [FR Doc. 01–8013 Filed 3–30–01; 8:45 am] BILLING CODE 3510–16–P

## COMMITTEE FOR THE IMPLEMENTATION OF TEXTILE AGREEMENTS

# Request for Public Comment on Short Supply Request under the United States—Caribbean Basin Trade Partnership Act (CBTPA)

March 29, 2001.

**AGENCY:** Committee for the Implementation of Textile Agreements (CITA)

**ACTION:** Request for public comments concerning a request for a determination that 100 percent polyester yarn of 150 denier/140 filament textured polyester containing one end of 75/70 cationic dyeable polyester intermingled with one end of 75/70 disperse dyeable polyester cannot be supplied by the domestic